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Monthly averaged wind velocity by MF radar at Tromsoe for January 2019

North

mean sigma = 20.631

4 8 12 16 20 0
mean sigma = 22.764

s

[e ] é
=

mean sigma = 24.700

20

o

4 8 12 16 20 0
mean sigma = 23.720

0 4 8 12 16 20 0
mean sigma = 26.386

4 8 12 16 20 0
mean sigma = 25.249

4 8 12 16 20 0
mean sigma = 24.375
0 4 8 12 16 20 0
mean sigma = 24.055
0

20

o

East

mean sigma = 22.582

i

-50
-100E
0 4 8 12 16 20 0
mean sigma = 24.532
100 F E|
sop ) ﬂ m 3
of WVM ,,,,, B
1 :
-100E 3
0 4 8 12 16 20 0
mean sigma = 23.149
100 F E|
50F- A J\ E
0:, PR ¥ . - ,V[,,,,,,,,,r, 7:
NW\M Mt ,
-50 . E
-100E 3
0 4 8 12 16 20 0
100 F E|
50 =
ob E
50 E
-100E 3
0 4 8 12 16 20 0
mean sigma = 24.726
100 F E|
50 =
07 7:
501 E
-100E 3
0 4 8 12 16 20 0
mean sigma = 24.725
100 F E|
50 -3
of :
-50F E
-100E 3
0 4 8 12 16 20 0
mean sigma = 22.195
100F E|
50 E
-100E 3
0 4 8 12 16 20 0
mean sigma =21.113
100 F E|
50 3
-50 E
-100E 3
0 4 8 12 16 20 0

106km

103km

100km

97km

94km

91km

88km

85km



Monthly averaged wind velocity by MF radar at Tromsoe for January 2019

North East
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